
Plastic piece

Note：The plastic sheet isolate the battery. 
remove the plastic sheet when using the 

remote control

Product Description

OFF ON

Brightness plus

Speed plus

Music mode  plus/minus

Brightness minus

Speed minus
AUTO mode

Timing 1 hour 2 hours off

Music sensitivity plus/minus

Color switch plus Color switching 
minus

Mode +

Mode -

Light bar interface

LED Bluetooth Symphony 

Controller

Product name Bluetooth Symphony Controller

Support system Android 4.4 and above / iOS 11.0 
and above

Connection mode Bluetooth 4.0

Input voltage DC5V/12V/24V

Technical Parameters

Remote control 17-key 

Please search LED LAMP in major Appcenters, or scan 
below QR code.

Download App Software

(1) Check if the power supply of the light strip is normal.
(2) Check if the Bluetooth is turn on.
(3) Check if there are other mobile phone are connected, 

Bluetooth 4.0 only support connections one to many, dose not 
support many to many.

(4) Check APP Bluetooth setting if the phone is connected to the 
device, if connect, exit the APP and reopen, the APP will go to 
connect automatically.

(5) Normal operations and can not connect, please exit the APP 
and reopen.

(6) Exit APP, restart mobile phone, power on the strip light, reopen 
the APP, then them will connect automatically.

Unable to Connect Troubleshooting

1. Download the "LED LAMP" APP with your mobile phones by 
scanning the QR code on user manual or search the "LED LAMP" 
APP in iPhone APP store or Google play store.
2. After the APP are downloaded successfully, you need to turn 
on Bluetooth function on your phone firstly, then plug in the strip 
light, then open the APP, your APP will pair with the strip light 
automatically and you can control it.

5.     Music: There are voice control and music, there are 
hundreds of modes for voice control, and music needs to 
be played by mobile phones.

Instructions

On the home page, manually pull down to refresh, the APP will 
automatically search for nearby devices, and click the 
"LED DMX 00-XXXX" device to enter the lighting control interface.

First of all, you need to turn on the Bluetooth function of your mobile phone.

Android phone users, also turn on the location function and allow permissions.

6.       Settings: Timing settings, click the "Add" button at the top 
right, after setting, click "Storage", and then "Send Timing".

3.      Mode: select the desired 
mode, custom mode, and adjust 
the speed and brightness.

4.      Custom: You can 
customize the color, select the 
mode, adjust the speed and 
brightness.1.       Settings: You can set RGB sorting, timing, shaking, and 

changing skins.

Mode 
selection

Play/Pause Cycle

Add timer

Adjustment 
sort

Mode 
switch

Set pixels

2.       RGB: There are three parts: color ring, channel and 

monochrome.

On/off

RGB value

Device List

Custom 
color

Color 
selection

Color wheel 
switch

Connections

Setting

RGB sort

Pull down refresh Mode 
switchingVoice control 

mode

Song list
add song



ASSEMBLY INSTRUCTIONS

1

20min

1

8

8
3

2

5

9

9

4

4

6

7

10

11



1

2

2 3

4 5 6

1PC

ASSEMBLY INSTRUCTIONS

1PC1PC

7 8 9

10

1PC

1PC 2PCS

1PC

2PCS

1PC

2PCS

11

1PC



4

4

M8*70

2

A

No. PICTURE SIZE QTY No. PICTURE SIZE QTY

B

C

D

E

F

G

M6*25 14

8M6*40

2ST4*12

1

2

ST5*40

8M8

M8*50

4

Tool sheet

AA

BB

CC

2

4

4

DD8

1

M6*30

4EE

FF

GG
φ16xφ6.5x1.0mm

4

4

3

ASSEMBLY INSTRUCTIONS

M6*30

M8*10

M8*16

M6*16

HH

II

M5*45

∅16
φ16xφ8.5x1.0mm

φ16xφ8.5x5.0mm

∅16

∅161

2

Matters needing attention

When installing the screws in the installation step,

the screws do not need to be tightened.

After this installation step is confirmed and the holes are aligned,

then tighten all the screws.

(1)

(2)
If the screws are tightened during the installation process,

it will cause problems such as misalignment of the screw

holes and misalignment of the board in subsequent installations.

example

Do not tighten the screws

Screw down

4#3#

X2X1

H
X2 X2 X2



1

4

ASSEMBLY INSTRUCTIONS

2

P

a

y

 
a

t
t
e

n

t
i
o

n

 
t
o

 
t
h

e

 
h

o

l
e

 
p

o

s

i
t
i
o

n

4

5

4 4

4

6

4

6

7

4

C

C

C

C

G

G

G

G
G

G

G

G

6PCS

M8

C

4PCS

M6*40

C



3

5

ASSEMBLY INSTRUCTIONS

4

9

9

7

7 7

7

9

9

9

5

F

F F

F

C

C

F

2PCS

M6*30

C

2PCS

M6*40



5

6

ASSEMBLY INSTRUCTIONS

6

2

6A

A

A

D

4PCS

ST5*40

A

3PCS

M6*25

D

D

D

D

4

5

4

2



7

7

ASSEMBLY INSTRUCTIONS

8

2
1

1
.
5

1
9

1
.
5

Pay attention to the hole position

8

8

2

7

8

3

5

8

8

B

B

C

C

D

D

D

D

B

2PCS

M6*30 C

2PCS

M6*40

D

4PCS

ST5*40



9

8

ASSEMBLY INSTRUCTIONS

10

3

3

10

10

1

7
9

9

4

4

E
E

E

E

A
A

A

A

A A

A

A

A

E

2PCS

ST4*12

A

11PCS

M6*25

A
A



11

12

Carefully remove the plastic film

behind the light strip.

11

9

ASSEMBLY INSTRUCTIONS

1

11

11

1



10

ASSEMBLY INSTRUCTIONS

13

14

BB

BB
BB

BB

BB

BB
BB

BB

CC

CC
CC

CC

CC
CC

CC

CC

BB

4PCS

M8*50

CC

4PCS

M8*10

Hold still

Hold still

The nub has non-slip rubber.

Tighten the screws hard.



11

ASSEMBLY INSTRUCTIONS

15

16

G

G

G

G

AAAA

AA
AA

AAAA

G

2PCS

M8

AA

4PCS

M8*70

5

5

Hold still



12

ASSEMBLY INSTRUCTIONS

EE/FF

EE/FF

II

II

GG/HH

GG/HH

GG/HH

GG/HH

EE/FF

EE/FF

II

II

II

II

GG/HH

GG/HH

EE/FF

EE/FF

EE/FF

4PCS

M8*16/M6*16 GG/HH

4PCS

φ16xφ6.5x1.0mm

φ16xφ8.5x1.0mm

4PCS

II φ16xφ8.5x5.0mm

TV

TV

TV

17

18



13

ASSEMBLY INSTRUCTIONS

Pay attention to the

assembly location

19

20

DD

DD

DD

DD

2PCS

M5*45

lamp



14

ASSEMBLY INSTRUCTIONS

21

22

wall



15

ASSEMBLY INSTRUCTIONS

23

24

H

H

H

H

1PC

X2

Installlation completed

H

1PC

X2 X2

H

H
H

H


	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型




